T-A2 A\ﬁebm. i Week 23 2/2%
\NIAGJA o aHM—RHow?Aj RN %wu(ra:h"c?

\)@— Bx +15 =Y 2) -k =y
%I' Nol  wot 3qurf$‘¢

m ‘t.@ 5x1—l><+l.lf-j

3) 9~(>< + 5x-8) - ;Lx, + )
wod rahc
%+IDX-—H¢ J><i MJIA.M Nt 6‘

X - Lb Wb+ 4

5) CX“3>(X‘*"°> ‘j Foll Qwrﬁl’\a
@W L>H3L¢S+olﬂ.ﬂf‘“-ﬂ' X 1S X

XQ_-"LDX——%X’IB )E-xpow4 Rr)( vvws-]- loe
x4-+gx,(8 whele V\UM\D&FS
\
rost, zero /
A- A

&— >
C- lﬁ;\ /»S.‘qu,f)'t

Y Oo‘t Zer50 ®

ve v




Find the gquadrabic eguilion for Hha lise

& (419)] (29, G54

:Q_XL_\. kx"‘Q n=-2 -0 fo|2l /
RN

“M/’—b/h_m (2,4)

C’/

\ﬁ: ﬂ-—)(q"—k\a)({'c \:)”W)Ll—klox_‘_¢
J . )
IO‘OL(—MLL—MC_ Y- of2) +bl2)4cC
M) l=a-be Dt ta < Zb e
(34
\ﬁ:&-\(zk\ﬂk'FQ ) O o= o.-—lo+c
6 4. yntdbie

—b _ a3y +b(3)4e
@ —¢= %o t3b &

(V b= a-bte
O Y+ b+
(L{ ‘chl‘ofﬁ'-) @z L = CIA'FSIQ +C,>

\D‘ o~ —
e ’7’\’ Y= Ya +tb
S L= -An -3b"

3 o =-S5~ "~

@ — = Ya +3b+c

|0= f» ‘o+c

@ 2 s-07
Cg 7.*—&«\0 - g=4a
1T l*’2—0+¢

_)=a| 0="ZF ¢

L2 +Z

2= \o —(9©
- '50»
e [y =



2 |z 4z |3(2))
1Yz 2 (1,2
O [(o¥)+2Z |30
[ ] (D2 }la CU’\
| (et tez0
?m‘w’t 5\\0

P-Q,
wuc)(()@%?m@
Lignt |
{ L
BN Lz;
(1,3)







